

الف) $y = \frac{\sin x - 2}{2 \cos x + 1} \neq 0 \quad \cos x \neq -\frac{1}{2} \quad D_f = \mathbb{R} - \{2k\pi \pm \frac{2\pi}{3}\}$

ب) $y = \frac{\sin x + 2}{\cos x - 1} \neq 0 \quad \cos x \neq 1$

$D_f = \mathbb{R} - \{2k\pi\}$

الف) $y = \frac{2 \sin x + 1}{\tan x + 1} \rightarrow \frac{\sin x}{\cos x} \neq -1 \rightarrow \frac{\sin x}{\cos x} \neq -1 \rightarrow$ 

ب) $y = \frac{\cos x + 1}{\cot x - 1} \neq 0 \quad \cot x \neq 1$

$\frac{\cos x}{\sin x} \neq 1 \rightarrow k\pi + \frac{\pi}{2} \quad D_f = \mathbb{R} - \{k\pi, k\pi + \frac{\pi}{2}\}$
 $\sin x \neq 0 \rightarrow k\pi$

الف) $y = \sin x^2 - 2 \quad -1 \leq x^2 - 2 \leq 1 \rightarrow 1 \leq x^2 \leq 3 \rightarrow 1 \leq x \leq \sqrt{3}$

ب) $y = \arccos(\sqrt{x} - 2)$

$-1 \leq \sqrt{x} - 2 \leq 1 \quad 2 \leq \sqrt{x} \leq 3$

$4 \leq x \leq 9 \quad D_f = [4, 9]$

الف) $y = \cos |x| - 2 \quad -1 \leq |x| - 2 \leq 1 \quad 1 \leq |x| \leq 3 \quad -3 \leq x \leq -1 \quad 1 \leq x \leq 3$

ب) $y = \arcsin(x^2 + 2x + 1)$

$D_f = [-2, 2] \cup [-2, -1]$

$-1 \leq x^2 + 2x + 1 \leq 1$

$\frac{-2}{-1} \quad \frac{-1}{0} \quad \frac{0}{1} \quad \frac{1}{2}$

$-1 \leq x^2 + 2x + 1 \rightarrow 0 \leq (x+1)(x+2)$

$0 \leq x^2 + 2x + 1 \rightarrow D_f = [-2, -1] \cup [1, 2]$

$x^2 + 2x + 1 \leq 1 \rightarrow x^2 + 2x \leq 0$

الف) $y = \log_r^{x^2-2}$

$x^2 - 2 > 0$

$x^2 > 2$

$x > 2 \quad D_f = (-\infty, -2) \cup (2, +\infty)$
 $x < -2$

ب) $y = \log_r^{2-|x|}$

$2 - |x| > 0$

$|x| < 2$

$-2 < x < 2$

$D_f = (-2, 2)$

$$\text{Sol)} \begin{matrix} y, \log^{d-n} > 0 & n < d \\ x-r > 0 & n > r \end{matrix} \quad D_f = (r, x) \cup (x, d)$$

$$n \neq 1 \quad n \neq \infty$$

$$\begin{aligned} \rightarrow y, \log x^r - 1 &> 0 & x^r &> 1 & x &> 1 \\ x + r &> 0 & x &> -r & x &< -1 \\ x + r &\neq 1 & & & & \\ x &\neq -r & & & & \end{aligned}$$

$$D_f : (-\infty, -1) \cup (1, +\infty) = \{-\infty\}$$

$$\text{ii) } \lim_{x \rightarrow r} \frac{x^2 - 2x + r}{x - r} \xrightarrow{x \neq r} \frac{(x-1)(x-r)}{x-r} = \frac{1}{-1+1} \quad \text{Df} = (1, r) \cup (r, +\infty)$$

$y \leq \log \frac{n+r}{n-r}$ $\xrightarrow{n \neq r}$ $\begin{cases} +, r > 0 \\ -, r < 0 \end{cases}$

$\begin{aligned} & \begin{matrix} n+r > 0 \\ n-r > 0 \end{matrix} \rightarrow \begin{matrix} n-r > 0 \\ n > r \end{matrix} \\ & \begin{matrix} n+r < 0 \\ n-r < 0 \end{matrix} \rightarrow \begin{matrix} n < -r \\ n < -r \end{matrix} \rightarrow n < -r \end{aligned}$

$$\begin{array}{l} \lambda > -\Delta \\ \lambda + \Delta \neq 1 \star D_{f^*}(-\infty, \lambda) \cup (\lambda, +\infty) - \{-2\} \\ \lambda \neq -\xi \end{array}$$

د) $y \sqrt{r - \log_r(n-r)} > 0 \quad n > r \quad Df \in (r, 10]$

$$y = \log(r \log_r^n - 1) > 0 \quad \log_r^n > \frac{1}{r} \quad n > r^{\frac{1}{r}} \quad n > \sqrt[r]{r} \quad D_f = (\sqrt[r]{r}, +\infty)$$

الف) $y = \frac{\sum x}{n} \neq 0$ $\{x_i - 1\}$ $D_f: R$
 با y غرضمند منسوب تمام اعداد حقیقی

$$\text{b) } y = \frac{x}{\{x\} \neq 0} \quad \{x \neq 1 \quad x \neq 0 \quad D_f = \mathbb{R} - \{0\}$$

2) $y = \frac{r}{\sum x - r \neq 0}$ $\{x \neq r \Rightarrow r^x \neq r^{-1}$ $\frac{1}{x} \neq \frac{1}{r}$ $D_f = \mathbb{R} - \{\frac{1}{r}\}$

$$y = \frac{r}{s^n - r} \quad s \neq 0 \quad \sum_{n=1}^{\infty} r^n \quad Df = R - 1 \log \epsilon$$

الف) $y = (2n+1)!$ $\sum n+1 \in W$ $D_f = \left\{ n \mid n = \frac{k-1}{2}, k \in W \right\}$
 $n \in \frac{W-1}{2}$

$$\rightarrow) g_s \left(\frac{r_n - r}{r_n - d} \right)!$$

$$D_f = \{x/x = \frac{r-dk}{r-rk}, k \in W\} \quad x \in \frac{r-dw}{r-rw}$$

3

Y

A

9

.